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Total Time : 3 Hours 15 Minutc Full Marks : 80
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General Instructions / am=y 3w :

1. This Question Booklet has two Parts — Part-A and Part-B.
38 WA-GfET § @ Wi — WA @41 WM-B

2. Part-A is of MCQ Typc having 30 marks and Part-B is of Subjcctive

Typec having 50 marks.

WA § 30 3i ¥ Sgfreeda 5 71 WM-B # 50 31 ¥ frwafig v &

The candidate ha:'f to.answer in thc Answer Booklet which will be

provided scparately.

ftemeff ) e & Iqced HE 7 IR-Yfer d I R
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4. Part-A — There are 30 Multiple Choice Questions having lour (4)

options (A, B,C&D ). 'I‘iw candidate has Lo wrile the correet option
in the Answer Booklct. All questions arce compulsory. Each question

carrics 1 mark. There is no ncgative marking for wrong answer,
WT-A — 36T 30 agfawedi 5 & RAE 4 fawew (A, B, C A D) 3
wharfl /) Im-gf § w@ W feT &1 oy wfEd §) s@s wm

1 3% F 81 7Toid IW F fore Y 3k wrer 78 wmom

5. Part-B — There are three sections : Section-A, B & C.

This part is of Subjective Type having Very Short Answer, Short
Answer & Long Answer Type questions. Total number of qucstions

is 22.

Section-A — Qucstion Nos. 31-38 arc Very Short Answer Type.
Answer any 6 questions. Each qucstion carrics

2 marks. Answer the questions in one sentence each.

Section-B — Question Nos. 39-46 are Short Answer Type. Answer
any 6'questions. Each question carries 3 marks.

Answer the questions in maximum 150 words each.

| TLV(X11)-52086 | xc‘“'l‘-(coup.]-c 2/ 35



6.

BST
Secti c ' JAC Commerce
gction-C — Question Nos, 47-62 arce Long Answer Type. Answer

Aany 4 questions, EBach question carrics 5 marks.
Answer the questions in maximum 250 words cach.

WM-B — T8 um i f wvg — @uz-a, B awi ¢ 1 3 wm i wft ey

3, &Y Ia qun 4 3t wew % Roafm g §1 B gz B oden

22 &l

GUS-A  — YA FEN 31-38 Afa &g 09 §) R 6 wHl & I 2
Yeeh W7H 2 3% 1 | UA¥h Y99 H1 I UH a4 § &

w@Uz-B —mm@-%agaﬁﬂa%ﬁﬁ’iswﬁ%émét
&% YA 3 3% F A TAF WA F IW A
150 Y=gl | 3§

Q@uz-C — m@47—52ﬂﬁm%|m74mﬁ%milm
msﬁmélmmmmmﬁ:ﬁaﬁ 250 v 8 2

Candidates are required to answer in their own words as far as

practicable.

qiienefl quTEYd 3794 el 8 8@ I
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2 Candidate has to hand over his/her Answer Booklet to the

Invigilator compulsorily before leaving the examination hall.
aﬁanﬁwﬁwmmﬁ%wﬁﬁm#—gﬁwaﬁemaﬁaﬁaﬁmﬁ
we1g |

8. Candidates can take away the Question Booklet after completion of

the Examinaltion.

qfienl TUIH B % INA whenedi weE-giEe o9t @y de S AEd B

TLV(XI1)-52086 | XC-BST-(COMP.).c
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Part-A
A

( Multiple Choice Type Questions )

( TgRwedta v )

Question Nos. 1 to 30 are Multiple Choice Type. Each question has four
options. Select the correct option and write it in the Answer Sheet. Each
1 x 30 =30

question carries 1 mark.

57§ 1} 30 7% Tgfrmedy v § e % ww fed 81 W R
iR I IR A ford | wdls v 1 o w0 R

1. “Wrong' organisational structure prevents business performance up

to the extent that it destroys it." This statement is of
(A) Drucker - (B) Terry

«{Cr—Rllen (D) Brech

TLV(XII)-52086 XC-BST-(COMP.)-C - 5/35
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R LU R emp—"— oo o F RO LR R

e 1 ug wem R

(A) sWwH (B) 0=

© ¥m® . (D) ®E®H
2. Grapevine communication is

AR informal (B) formal

g

(C) written (D) none of these
ST FTETE B 2

| {A-] Il (B) Hu=ri
(c) fefaa (D) ¥ A
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Main componenyg of N
> W Economic Policy arc

(A)  Liberalisatipp
(B) Globalisatign

(C) Privatisation

D] All of these |

7§ anffs Ay F ww om &
(A)  IEHIHT (B A
€ e p) wEaeh
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T e planiing i step of management
/‘N/PHHI (B) Mcdium
(C)  Final (D) Optional
GRIECR'C T =0 Bl
(A} wum (B) “"-‘“
© =fam | (D) ¥R

S. There is no discipline in

(A) divisional organisation
(B) functio;:al organisation

(C) formal organisation

»ﬂ/informal organisation

——

TLV(XII}-52086 Xc:BST-(COMP.)-C 8/ 35
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" s e (B
) Frurees d@rsa
(C} s (D) 3= waA

6. Main objcctive of control ig

A Variati
(A) on. (B) Deviation

T Rc:*ctification (D)  None of these
PrtAw 1 e 7 |
‘ .‘(A] R - (B) ﬁ?«'ﬂ
© §um (D) Gﬁ 3 .ﬁ L
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The writer of the book "Fundumentals of Marketing” is
(A)  Philip Kotler

(B) Prof. William J. Stanton

/MChard Buskirk

(D)  Prof. J. P. Verma

RIS A% tn%ﬁﬂ &% & AG@H $H & ?
(A) fofeg weer

(B) . fafermm 3. Rver

() feard safss

(D) WM. A &, Fui

TLV(XII)-562086 XC-BST-(COMP.)-C 10 / 35
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Consumer Proteeti
L ce
clion Agy wid passcd in

(A} 1786 . (B) 1886
(©) 1986 _{DF—1996
IV W& ST i qan |

(A) 17864 | (B) ' 1886 H
(C) 19861H (D) 1996 #

L]

Which of the following is/are not included in long-term finance ?

_Af——Equity shares (B) Dividend
(C) Preference shares (D) Long-term loan

TLV(XI)-52086 XC-BST-(COMP.)-C 11 /35
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(A) | S8 (B)

o

€ iR sin (D) - ddarefta
10. Trainingis .............. process.

(A)  Current | (B) Regular

€y Continuc.::us (D) None of these

TRET T ufsear gl

(A)  wT (B) - fafm

(C) ®aq (D) mﬁﬁﬂs‘w
TLV(XII)-52086 XC-BST-(COMP.)-C
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1. Delegation can be dope of

(A)  Authority

_{C] Accnunlabilil,y

WRTdoT R 31 ey 2
(A) FUHR =1
(C) | SQTECE! i

12. Marketing concept is

(3)

(D)

(B)

(D)

(A)  Production oriented (B)

(C) Customer oriented

| TLV(X11)-52086

Responsibility

Nonc of these

T A $3 TE

Sales oriented

__AD}—All of these

XC-BST-(COMP.)-C
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() Irrdaged (B)  fosraage)
€  TrEwEE D) AW
13.  Fixed capital is required for

(A)  payment of routine cxpenscs

ffBJ/ purchasc of land

(C)  purchasing stock

(D) payment to creditors

TLV(XI)-52086 . XC-BST-(COMP.)-C 14 / 35
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wrfh 3t A rzuwmm g f
(A) &R = w1 e e % Rig
(B) MM % Hw a;i%m
© Wis & %9 & fag
(D) TERI 1 YT FW % fre
14. The foremost need of development in a country is of

(A)  Physical resources

(B) Economic resources

_Aer— Efficicnt management

(D) Nonc of thesc
]

| TLV(X1I)-52086 XC-BST-(COMP.)-C 15 / 35
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Al o) 2m % Rt 3wl e Azl

(A) SR daua &) 1) anlfF dune H

(C)] F9E W4 &) DR KE K
15. Which of the I‘ollowing is not a staffing [unction ?

,(A‘f Pl'anning | (B) Recruitricnt

AC) Sélcction | (D) Training

Frefeifen § 4 - P 31 o 4 -

(A) e - (B) i
(C) =M (D) wivEo
TLV(XII)-52086 XC-BST-(COMP.)-C 16 / 35
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Hinte I'nll'lll'lll'ﬂlinll Can wetg|e '““l"""“

(A) up to Ru. 20 lukh

() upto Rs, 50 lakh

{C)  upto Rs. | crore

(D)  above Rs. 1 crore

TR 3 faE) # faer s v 2
(A) 20 TG Fo AH

(Bl S0V M ¥# d®

(€ 1S F T

el Iﬁ?!p“é&{ﬁ
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17 Which of the followinjiIn n dotermunant of Capital
uqlrlltlu -
r¢e p ]

(A) Cash Mow atntemertl

(B) Interest coverage ratio

(C) Debt service covcrage ratio

/1‘@1( All of thesc

St & - Gof s ) Fif 0 o d

(A) g yaTg faaw

(D) T AW

TLV(XII)- '
(X11)-52086 XC-BST-(COMP.)-C 18 / 35




18. Control is related to

, _A) "Results

(C) Efforts
i e
(A) i &
(C) WHH

JAC

(B) Functions

(D) Nonc of these

(B) ®HH

(D) T A +1$ T

e
Commerce

19. "Aplanisa trapto capture the future.” This statement s of

(A) Newman

(C) Allen

TLV(X11)-52086

uricy
(D) Terry
XC-BSTH{COMP.)-C
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(A = B ©
(©) e @ (o) H
20. Dircction is
(A) Pervasive
(B) Performance-oriented
(C) Continuous activity
/nﬁﬂm of these
e ¢
() wh @ e s
(€ Fre (D) T Ao
TLV(XI)-52086 | XC-BST-{COMP.)-C
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2l. In a large sized cnterprige

A " Voluntary -
(C) Compulsory D)
< smor a3 e i
(A) Ue® (B)
() fEr (D)

JAC

22. Manager takes decision as to,

" (B)

(A) Financc

(C) Dividend

TLV(XII)-52086

—"

delegation is

Nccessary

None: of these

7 & g

Investment

/&En/ﬂu of these

xC-BBT-.ICOHP.]-c

B8T
Commerce
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s fivfg 9m 8
(A) foltm B) few
(C) wm™m . (D) ¥ A ;A

Supervisor is the link between

(A)  Top and middle management
(B)  Workers and middle management

(C) Workers and lower management

Morkers and directors

vﬂéwﬁﬁ%

(A) aa?}mnmmﬁ

(B) warh qon wem yay )
€ =il @ e yay

(D) a:ﬂamlzﬁﬁmgaﬁﬁ

TLV(XII)-52086 XC-BST-(COMP.).C
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24. Qbjective of development ig
(A)  Incrcasc.in knowledge
(B) Better performance
(C) Promotional opportunity
,—'-':(D‘] AH-ef-thesc
Rree &1 3072 .
(B) g eI
. (D) T a ot
() qaafa & HFH
23 /35

xc_n“.lcom-]'c



B8T
JAC "‘Commeree

25. The objective of management which consistently crealcs cconomic
value of various constituents of socicty is

(A)  Organisational objective

(B)  Social objective

(C) Personal objective

/H{ Both Social and Personal objcctives

YU H1 9 3 9 g & fafm geei & fore fre anfdss om0 g

T B, FEI &
.{A] WIS R
(B) &M 3
(C) =R st

(D) w2 tvg 2

TLV(XII)-62086 XC-BST-(COMP,).c
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M2,6’/ Costlicst means of promotion is
A _
(A Advertising - (B)  Personal sclling
(C) Salcs promotion (D) Public reclations
Yad 1 FEQ TET [U B
(A) famm@a - (B) =T fawa
() faha gaua (D) H qN
27. When is Consumer Rights Day cclebrated ?
/(A-)—*'Tﬁh March (B) 15th April
(C) 15th July (D) 15th January
25 / 35
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A) 15w ' (B) 1530

L]

€ 159 . (D) 15Imaﬂ

28. The father of scientific management is

(A)  Gilbreth )Maylor

(C) Robertson ' | (D) Kimbal
AP o 3 R 8

(A) ey B) ¥

(€) W‘c‘ﬂ? (D) frary

TLV(XI1)-52086 |

XC-BST-(COMP,)-c
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29. . The lcader posscesses

(A) intelligence

(B) foresightedness '

(C) self-confidence

ztDr all o; thesc

o & @t @

(A T

B) .

() ﬁ-ﬁ‘ﬁm

o) wHd@h

XC-BST-{COMP.)-C
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30.  Controlling is necessary for

(A)  small enterprise

(B) medium si.zcdl cnt{;:rprise
Mrgc sized cntcrp-mrisc |

(D) allof _th.csc_

(A) . &Y IHHE ¥ fora

(B) mm o & I a: fer

(C) ¥ R T 300 F forg

D) i amh

TLV(XIN-52086

. IC-BST-[COHP.].C
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Part-B
YN-B
( Subjective Type )
(Rreafe e )
Section - A
g ug - A
( Very short answer type questions )

(R FgIvia v )
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Answer any six questions. Answer the questions in one sentence each.

Mﬁ:mﬁﬂsrmémﬁmmmm@wfiﬁ

31. What is the process

product is established ?

2x6=12

through which a special identification of a

ﬁﬁ#-mmﬁmwﬁmﬁ@ﬁﬁw“ﬁmﬁaﬁ

Tt ? 2

TLV(XII)-52086

! XC-BST-(COMP.)-C
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32, What is meant by dirccting 3

’

v @ v afora & 2
33. Which is the life blood of business ?
B U H AA-T6 g1 & ?
34. Which source of production is an aclive source ?
| INTEA F BA-G1 GEIA qRRT O ?
35. What is mcant by authority ?
S - aﬁlm 2?

36. What is meant by management ?

wata 8 |0 3w R o
37. Whom do you ¢0§sider the founder of scientific managcment ?
1 AP A TR R e o
TLV(XI1)-52086 XC-BST-(comp,).c 30/ 35
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38. What is working capital ?
wriviia { R e € 2
Section - B
g - B

( Short anwer-type quutions. )
(wygInliauw )

Answer any. six questions. Answer the questions in maximum

150 words cach. 3x6=18

ﬁvﬂn:wﬂ%mmmmmma{ﬁm 150 wred) ® 2

39 How does scientific management bring about completc mental

change ?

e st @ Tl s o 863 o &2

[FLV{i) 52086 X C-BST-{COMP.)-C 31 /35
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40. What is the difference between recruitment and sclect

well 3k =g o AW R P
41. What is mcant by "Control by exception” ?
"3 g e @ e @ 2
A42. Why is organizing considered as an important function of
management ?.
Wﬁmﬂﬁwwﬁmm% ?
43. Whatis Lok Adalat ? .
. W% S MR P

ﬁ4' What do you mean by capitalisationi ?

' gofteror & 1 3 4 ?

TLV(XI)-52086 XC-BST-(COMP.).c : 32 / 35
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47.
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What is _Lhc objective of branding ?.
Ffen 1 /1 FW@R ?

Explain any three merits of packaging.
Y& % -l dt7 il 1 T HfR)

Section—-C
‘wvg -C
( Long answer type questions )

(Sd mia )

s. Answer thc qucstions in maximum

Answer any four question
5x4=20

250 worl'ds e_ach.

Mmﬁ%milmmmmaﬁw 250 W& A 2l
three-tier machinery under the Consumer

Explain briefly the

L]

Protection Act, 20109.
g @@ & w8q H Fula

L 2019 ¥ rmid
Hifm |

XC-BST-(COMP.)-C 33 /.35
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gystem.
| control &
AR Explain the charncteristics of goot

S P syl <) Redanail 1 vl AT

i four points whijc,
49,  What is mcant by delegation ? Explain any

ion i organization.
highlight the importance of dclegation in an org

Wﬁ“‘ma?'@aﬂﬁ@aﬁaﬁm@ﬁmﬂm%

UEd Wl IR FW@ B

£0. What is mecant by liberalization ? Explain its four effects on

business and industry.

st & v a4 ﬁaﬁmmmm%ﬁ'&nmm
o7 Hifirg

-

LTLV(XII)-52086
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A1 Brielly cxplain the different mcthods of training.
wfym ) fufig wghdl # 489 1§ GHs
A2. Describe th.c various determinants of working capital.

wRiTe §oh & Refm Aufes ol & avl Sl
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